ADVANCED ESTIMATIONS

19X 19 =

29 X 29 =

39 X 39 =

49 X 49

19 / 19

49 / 5 =

39 /8 =

29 /9 =

18X 18 /4 =

sq rt (29 X 29)

39X39/10 =

49 / 5X 49 =

79 / 79 =

49 / 5X 2,186

39 /8X19 =

90.00638 / 3
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ADVANCED ESTIMATIONS

16 X18 /5 =

sqrt (35 X35) =

73X71/ 10 =

48 + 9 X 19 =

2,346 / 2,346 =

59 / 6 X 186,000 =

79 / 8 X 19

79 + 8 X 19 =

12X 11 /5

sqrt (236.4 X

236.4) =

490-88 /9 =

18 + 9 X 29 =

2,346 / 2,346 =

51/ 6 + 186,000 =

79 / 11 X 39 =

12+ 8 X 19 =
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ADVANCED ESTIMATIONS

53 /6.5 x 3/86 + 892.3 fror x 74923% =
9::/0'23/3.0& x/0%° % 6.7 k/os/d/x/o“k 9% /0’ =

£900 999 — 77 x 3.6x/0"/3x /0% + Tx 0=
423 x 423 /423 x '/23?/4.23”’ =

K 1 < Y
10/ 101" < 012 < p01” % JOr " % Jor " =
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ADVANCED ESTIMATIONS
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